FCA,

GLOBAL POWERTRAIN

’ 4

GRACO

Component List for
Graco Trabon Lubrication Systems Products

Document No.: CL- F- Trabon

Version 10.1
Release Date: July 31, 2017

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1
Original Date: 1-Oct-2010 '

Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO
Page No.: 1 of 54



FCA

GLOBAL POWERTRAIN

DOCUMENT MANAGEMENT INFORMATION

The controlled version of this document is stored on the Graco website.
www.graco.com/fcalubricationspec

Web address reference is available on the following Fiat Powertrain SpA and Chrysler Powertrain
LLC web sites:

http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

Any printed copy is an uncontrolled copy. The user shall verify with the web site that he/she is in fact
using the appropriate version of the specification for the specific project he/she is working on.

Any questions or comments with respect to this specification should be directed to the project
engineer for the specific project in question.

Revision History

Revision Version | Document Name Revision Description Paragraph Revised
Date No. Affected By

10-1-2010 1 FPT-CPT 2010 Project Book Graco Trabon Update with 2010 review All L. Brown
7-1-2012 2 FPT-CPT 2012 Project Book Graco Trabon | Update with 2012 review All L. Brown
7-1-2013 3 FPT-CPT 2013 Project Book Graco Trabon Removed single point 3 L. Brown

lubricators, due to conflict
with specification
Updated contact info 2
7-1-2014 4 FPT-CPT 2014 Project Book Graco Trabon Updated contact info 2 L. Brown
Added MPP Modu-Flo
pumps, Separated G3 Oil
from Grease pumps, added 3
psi switch, cycle switch and
gauge

1-1-2015 5 FPT-CPT 2014 Project Book Graco Trabon Deleted obsolete piston 3 L. Brown
distributors.

Added G1 pumps & GL
injectors.

Separated and clarified
piston distributors models for
easier selection.

Added clarifying comments
to other components to avoid
misapplication.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1

Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 2 of 54



http://www.graco.com/fcalubricationspec
http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

FCA

GLOBAL POWERTRAIN

6-9-2015 6 FPT-CPT 2015 Project Book Graco Trabon Deleted red strike items from | 3 L. Brown
January revision

Changed blue comments to
black from January revision

12-1-2015 |7 FPT-CPT 2015 Project Book Graco Trabon | Updated manifold part 2&3 J. Koenig
numbers and contact name
3-29-2016 |8 FPT-CPT 2016 Project Book Graco Trabon | Added more details to align | All J. Koenig

with competitors, updated
link to controlled copy,
updated contact information,
added BSPP outlet fittings
for G-series pumps. Added
“QUICK-FILL COUPLING
OPTIONS” section to last
page. Combined Global and
NAFTA books into one
document.

Updated Graco Website and
Contact Information.
4-8-2016 9.0 352481C_FCA_Global_Graco_Trabon_Spec | Rearranged sections to align | All J. Koenig
_Book with FCA guidelines. Added
new ToC, more links to other
literature, and removed some
non-BSPP specs.

Removed MD and MJ valves
because they are not offered
with BSPP ports.

11-7-2016 10.0 352481D_FCA_Global_Graco_Trabon_Spec | Added technical 5 J. Koenig
_Book specifications to the
drawings.

Replaced MSP prox switches
with Solid State version,
added Solid State prox for

MXP.
7-1-2017 10.1 352481E_FCA_Global_Graco_Trabon_Spec | Updated FCA contacts. 1.2 J. Koenig
_Book Added MJ/MD version of 4.2

solid state proximity switch.
Updated photo of 563251.

The number to the left of the decimal in the version number indicates the major version number.
The number to the right of the decimal in the version number indicates the minor version number.
The major version number will change for the following reasons:

¢ Information added to document.

o Information removed from document.

¢ Rearrangement of sections in the document.

o Revisions to the scope or purpose of the document.

The minor version number will change for the following reason:

¢ Minor changes that do not affect the overall scope of the document.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1

Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 3 of 54



FC

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

1. CONTACT & SUPPORT

1.1. GRACO INDUSTRIAL LUBRICATION SYSTEMS PERSONS TO CONTACT
1.1.1. NAFTA PROJECT BOOK SUPPLIER CONTACTS

Kyle Williams

Industrial Lubrication Regional Manager
Graco Lubrication Equipment Division
Cleveland, OH

Tel: 216-401-2266
kwilliams@graco.com

1.1.2. GLOBAL PROJECT BOOK SUPPLIER CONTACTS
1.1.2.1. EUROPE, MIDDLE EAST, AFRICA (EMEA)

Robert Heuberger

Sales Supervisor ILE

Lubrication Equipment Division Europe
Stuttgart, Germany

Tel: +49 172 5276 789
robert.heuberger@graco.com

1.1.2.2. ADDITIONAL CONTACT FOR AREAS OUTSIDE NAFTA & EMEA

Lee Brown

Industrial Lubrication Business Development Manager
Graco Lubrication Equipment Division

Detroit, Ml

Tel: 248-789-6190

Ibrown@agraco.com

1.2. FCA (EMEA, LATAM, APAC) AND FCA (NAFTA) CONTACTS

FCA EMEA, LATAM and APAC

Roberto Oliva Brian Maynard
E-Mail: roberto.oliva@fcagroup.com E-Mail: brian.maynard@fcagroup.com
Phone: +390 3346543687 Phone: +1 (313) 423-7006
File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1
Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 4 of 54


mailto:kwilliams@graco.com
mailto:robert.heuberger@graco.com
mailto:lbrown@graco.com

FCA

GLOBAL POWERTRAIN

2. TABLE OF CONTENTS

1. CONTACT & SUPPORT ..ottt e e e e s s bbb e e e e a e e s s bbb et e e e e e s s bbb e e e e e e s

1.1. GRACO INDUSTRIAL LUBRICATION SYSTEMS PERSONS TO CONTACT .....ooiiiiiiiiiiiine i
1.1.2. NAFTA PROJECT BOOK SUPPLIER CONTACTS ...ooiiiiiiiiiiiiiieit et a e e e s
1.1.2. GLOBAL PROJECT BOOK SUPPLIER CONTACTS. ..ottt a e

1.2. FCA (EMEA, LATAM, APAC) AND FCA (NAFTA) CONTACTS ...ttt

2. TABLE OF CONTENTS ...ttt ettt et e e e ot et e e et e b e e et e e e e e o b b e e et e e e e e s e b a e e et e e e e e s annnrre s
3. INTRODUGCTION ..ottt et e e e s s st e e e e s s s bbb e e e e e e e s s s bbb e s e e e e e e s s bbb e e e e e e e s e s s bnrre s
3.1, SCOPE OF DOCUMENT ..oetttttetiit ittt ettt e e e e st et e e e a1 e e et e e e e e aa bbb e e et e e e e e s e b b r e et e e e e e s annnrnees
4. LIST OF COMPONENTS ... ittt e e st e e e e e s s e e e e e s st e bbb e e er e e e s s s s bnr e

4.1. SINGLE LINE SERIES PROGRESSIVE SYSTEM VALVES ..ottt
4.2. SINGLE LINE SERIES PROGRESSIVE SYSTEM PUMPS & ACCESSORIES..........cooiiiiiiiiiei i
4.3. SINGLE LINE PARALLEL (MANIFOLD MOUNTED PISTON DISTRIBUTORS) ......oovviiiiiiieiiiiece e
4.4. SINGLE LINE PARALLEL (CAST BODY PISTON DISTRIBUTORS) ......cvviiiiiiiiie it
4.5. SINGLE LINE PARALLEL PUMP PACKAGES AND ACCESSORIES..........oocciiiiiiie i
4.6. AIR-OIL LUBRICATION SYSTEMS .....oiiiiii ittt ettt e ettt e e e e e st e et e e e s e e e e e e e e e nannn s
4.7. FILTRATION FOR LUBRICATION SYSTEMS ..ottt ittt ettt e e e e s e e e e e s
4.8. QUICK-FILL COUPLING OPTIONS/SUGGESTIONS ......ootiiiiiiiieiiiitie ittt ettt ettt ettt e e nanneeas

5. TECHNICAL INFORMATION AND DRAWINGS .......cii it

ST T 1 Y TP PP PRTT PP
5.1.1. EXAMPLE ORDERING CODES...... .ottt ettt ettt e e e st e e e e s e s e e e e e e s e s s e eeeeeeeanes
5.2.  MSP DIMENSIONAL DRAWINGS ..ot a e s e e e s
521, THREE SECTION MSP ..ottt e e e e e e e s s bbb e e e e e e s e naes
522, FOUR SECTION MSP ...ttt r e e e e s st e e e e e st b b e e e e e e e s e naes
5.2.3.  FIVE SECTION MSP ...ttt e e e e e e e e e s s e e e e e e s e nae
5.2.4.  SIX SECTION MSP... . ittt ettt e ettt e e et e e e et e e e e et b e e et e e e e s e s rrne e e e e e e s e naes
5.2.5.  SEVEN SECTION MSP ...ttt ettt ettt e e e 1 ettt e e e 1 e s b e e e et e e e e e sa b bbb e et e e e e e s annnbneeeeeeneanns
5.2.6.  EIGHT SECTION MSP ...ttt ettt e ettt e e a1 et et e e e e e s e e b e e et e e e e et e e bbb e e et e e e e e sannnbneeeeeeneanns
5.2.7.  NINE SECTION MSP ... ittt ettt e ettt e e o4 e e b e ettt e e e 4 e e b e e e et e e e e e s e e bbb e e et e e e e e sannnbneeeeeeseann
5.3, ZIMISP e r e e e e e e e e e e e e e e e e e e e e e e s

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N

Version 10.1

Original Date: 1-Oct-2010 '

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO
Page No.: 5 of 54



FCA

GLOBAL POWERTRAIN

5.3.1. ZERO LEAK MODULAR FILTER SECTION ....coiiiiiiiiiiiieiiiiiiiiieiieeeeeeeeeeeee et eeeeeeeeeeesesesesssesesssssnsnnssesnsennnnnnnnnes 27
5.3.2. ZERO LEAK MODULAR VALVE SECTION ....cottttiititiiiieiieeeeeeeeeeeeeeeeeeeesssssssssssssssssssssssssssssssssssssssssssssssssnssssnnnnnes 28
5.4, GREASE ZONE VALVE 557227 ... 29
5.5.  PERFORMANCE INDICATORS 563256 & 563254 ... 30
5.6, PROXIMITY SWITCH 24KALD ... 31
5.7. MECHANICAL CYCLE SWITCH 563272 ... 32
5.8,  G3AND G1 SERIES GREASE PUMPS ... 33
D 8.0, TECHNIC AL DA T A ittt ettt et ettt ettt ettt ettt eee e e eeeaeese e e eeeeeeeeeesesesseeseseseeesesnseesennnnesnnnnnnnnnnnnnnnnnnnrnne 33
5.8.2. G3/G1 PUMP WITH 2 LITER RESERVOIR .....outiiiiiii ettt ettt e e e e e 34
5.8.3. G3/G1 PUMP WITH 4 LITER RESERVOIR .....outiiiiiiiiiiiiiiie ettt e e e ee e e e e e s s s nntneeeeaaeeeannnes 35
5.8.4. G3/G1 PUMP WITH 8 LITER RESERVOIR .....outiiiiiiiii ittt e e et e e e e e s s snntanee e e e e e e e nnnnes 36
5.8.5. G3/G1 PUMP WITH 12 LITER RESERVOIR .....uiiiiiiiii ittt ettt e e st e e e e e s s snsbnneeeaaeeeannnes 37
5.8.6. G3/G1 PUMP WITH 16 LITER RESERVOIR .....uoiiiiiiiiiiiiiie ettt e e et ee e e e e e s s snntaaeeeaaeeeannnes 38
5.9.  G3AND GLSERIES OILPUMPS ... 39
.............................................................................................................................................................................................. 39
5.10. SINGLE LINE PARALLEL MANIFOLDS FOR PISTON DISTRIBUTORS ......coiiiiiiiiiiiiiiiiiiieieeieieeeeeeeeeeeseseeesenenenene 40
5.11. SINGLE LINE PARALLEL PISTON DISTRIBUTORS, SELF-CONTAINED .......coutttiiiiiiiiiiiiiiiiiieieeeeeeeeeneeeeeeeneneneee 41
5.12. SINGLE LINE PARALLEL CAST BODY PISTON DISTRIBUTORS ......ooieiiiiiiiiiiiiiiieieeieeeeeeeeeeseseseseseseseseseseeenenennnes 42
5.13 GL-32 & GL-43 INJECTORS. ....teteteteteteteneneaneeaeeeeesessseseseseasaesesssssssess s s s s s s s s 5555555255555 5 5555555555555 5 5555555555 e s e s e s e s s sesenennnnnnnnne 45
5.14. INJECTO-FLO PUMPS ... 46
5.14.1. THREE LITER RESERVOIR ... . 46
5.14.2. SIX LITER RESERVOIR ... e e 47
5.14.3. Y @ PP P PP P PP PPPPPPPPPPPPPPPPPNt 48
5.15. G3/GL VENT VALVE 24MAB2 ...ttt e ettt e e e e e ettt e e e e e s e e s st e e e aeeeaannssbaneeeaeeeaannsnteeeeeeeessannssnnees 49
5.16. SPINDL-GARD SPG-E24 ......oeeieeiiiiiiitttetiteeeteeeeeeeeeaeeeeeeeaeaeeeaeeeeeeeseeeasesesesssesesseessssessessssse s e s e sssssesesesesesesesennsnssnnnnnnnen 50
5.17. AO SERIES AIR/OIL MANIFOLDS FOR MSP VALVES ..ottt a e n e e e snnaae e e e e 51
5.18. HIGH PRESSURE FILTER 563515 ... .o 52
5.19. HIGH PRESSURE FILTER 564004 .......cooiiiiieeee e 53
5.20. GREASE STRAINER 564406 .........ueueitiiiitiueiiieteteteteaeaeeeaeaessasssssassessssssssssssssssssesssssssssssssssssssssssssssssesssssssssssssssnssnnnes 54
File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1
Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 6 of 54



GLOBAL POWERTRAIN

3. INTRODUCTION

3.1. SCOPE OF DOCUMENT

This document contains product information to be used for the selection of components for FCA Global
programs. This document provides a basic guide to selecting the correct type of lubrication system for
the correct application. It also provides the necessary contact information to assist in application
engineering, program management review, and stocking locations for ease of purchasing.

All information contained in this document is superseded by the requirements of the FCA Global
Specification.

A current, and accurate, copy of the specification can be gleaned from the following web
addresses:

http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

Terminating Series Progressive - lubrication systems for oil and grease - Series Progressive
terminating (total loss) system utilizing a pump feeding a Series Progressive divider valve. This system
is typically used on a single purpose machine.

Terminating Parallel (Piston Distributor/Injector) - This is a Single Line Parallel Terminating (total
loss) system utilizing a pump feeding a series of Piston Distributor delivery valves. This system is
typically used on a single purpose machine. For oil and fluid grease.

Circulating Header Line “0” Leak Series Progressive - This Series Progressive system, in
conjunction with the modular “0” leak valve, is used for transfer lines and flexible machining centers.
This style system simplifies the more complex circuits while providing individual zone control. In addition,
continuous circulating oil through filtration provides cleaner oil.

Accessories and Feedback devices - For use with all system types for monitoring pressures, cycles
and levels

Spindle Lubrication System (Multiple and Box Spindle) — Spindl-Gard ® - Dry sump style system is
used in place of the circulating wet sump system for multiple head spindles. Air/Oil system is used for
direct lubricating and cooling rolling element bearings on precision box spindles. These systems require
lubrication engineering design consideration. Mechanical layout prints for spindle are required for
review with expert. MUST CONTACT LUBRICATION SPECIALIST.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx N
Version 10.1

Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 7 of 54


http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

FCA

GLOBAL POWERTRAIN

4. LIST OF COMPONENTS

4.1. SINGLE LINE SERIES PROGRESSIVE SYSTEM VALVES

Picture Symbol Model Description Notes Doc #
. PRI, ; ) Multiple combinations available
L MSP igr;)zsr Elrj?lgé;esswe divider valve with outlet volumes of 0.005-0.080 based on machine design MSP
] : S . requirements.
— mreageg ml::-lt [tnort.tl{4l—/1892%S§gpp See section 4.1.1 for example
readed outiet ports: L/e- ordering codes
i IR A ZMSP | Series Progressive Zone Control divider valve with outlet volumes of | Multiple combinations available | L10105
ﬁ 0.005-0.080 in? per outlet (Oil only). based on machine design
el % Threaded inlet port: 1/4-19 BSPP requirements. For zoned
= | Threaded outlet ports: 1/8-28 BSPP system.
Inline BSPP ported Zero-leak valve assembly, 24vdc ]
w1 557227 | T readed inlet port: G1/4 For use with up to NLGI #2 \Z/glr:/ees
E]H Eﬂﬂ Threaded outlet port: G1/4 grease. For zoned shut off —
Electrical connection: M12 male systems.
4.2. SINGLE LINE SERIES PROGRESSIVE SYSTEM PUMPS & ACCESSORIES
Picture Symbol Model Description Notes Doc #
» 563256 | Performance indicator for monitoring 1500psi L15401

spikes in series progressive grease systems.
For use with MSP divider valves.

Required for master valve in every outlet.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 8 of 54



http://www.graco.com/us/en/products/industrial-lubrication/trabon-msp-divider-valves.html
http://www.graco.com/content/dam/graco/tech_documents/manuals/LXX/l10105/L10105EN-A.pdf
http://www.graco.com/us/en/products/industrial-lubrication/zone-valves.html
http://www.graco.com/us/en/products/industrial-lubrication/zone-valves.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l15401/L15401EN-B.pdf

PCA,

FIAT CHF

GLOBAL POWERTRAIN

N 563254 | Performance indicator for monitoring 750 psi _ . L15401
3 = spikes in series progressive oil systems. Required for master valve in every outlet
- ! For use with MSP divider valves.
‘w@”% Solid State proximity switch for cycle monitoring of | 24 volt PNP, 4-pin M12 (Eurofast) connector.
L @ 17L983 | Series progressive system master valve. For LED visual indication, use with cable Prox
For use with MSP divider valves. 247720.
@W Solid State proximity switch for cycle monitoring of | 24 volt PNP, 4-pin M12 (Eurofast) connector.
o .@ 17L880 | series progressive system master valve. For LED visual indication, use with cable Prox
For use with MXP divider valves. 247720.
@ﬁp Solid State proximity switch for cycle monitoring of | 24 volt PNP, 4-pin M12 (Eurofast) connector.
L -@ 17M380 | series progressive system master valve. For LED visual indication, use with cable Prox
For use with MJ or MD divider valves. 247720.

Mechanical cycle switch for cycle monitoring of Mechanical dry contacts. Only use if proximity Cycle

563272 . . switch application is impossible. Requires
!‘_i MSP and MXP series progressive valves. MSP, MJ, or MXP valve with cycle pin.
a2 Ve
L k] Iﬁl 563251 | "No Weep" magnetic visual cycle indicator with O- | For use with MSP valves for visual cycle L10102
[ ; i ring seal indication only.
L Ry

m
LS o
B

Pressure and Mpa gauge. Must apply visual Gauges
colored stickers in accordance with FCA
Global specification.

557713 | 0-3000psi/mpa pressure gauge. Must be used in
all systems.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 9 of 54



http://www.graco.com/content/dam/graco/led/literature/flyers/l15401/L15401EN-B.pdf
http://www.graco.com/us/en/products/industrial-lubrication/proximity-switch.html
http://www.graco.com/us/en/products/industrial-lubrication/proximity-switch.html
http://www.graco.com/us/en/products/industrial-lubrication/proximity-switch.html
http://www.graco.com/us/en/products/industrial-lubrication/cycle-switch.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l10102/L10102EN-C.pdf
http://www.graco.com/us/en/products/industrial-lubrication/pressure-gauges-led.html

PCA,

FIAT CHF

GLOBAL POWERTRAIN

For oil. Works with series progressive or
parallel systems. Includes low level switch. G3 Pump
e Series progressive systems require
Tl 96G050 G3 Oil Series. 2, 4, and 8 Liter reservoir options, BSPP outlet fitting 571071.
H O = D 96G051 expandable up to 16 Liter. 24vdc motor, low level, o Parallel systems require BSPP vent
fill cap with strainer. valve 24M482, plus cable 24N402.
96G052 | Female threaded outlet port: 1/4-19 BSPP. ¢ Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be ordered
separately.
For grease up to NLGI #2. Works with series
progressive or parallel systems. Includes low G3 Pump
level switch.
—— . . . e Series progressive systems require
Bl | e | [ et St
== - 96G184 | b | ’I P fill P ’ ' o Parallel systems require BSPP vent
96G189 [?W e}/et,hpre(sjs%re— 'tl' ¢ oort: 1/4-19 BSPP valve 24M482, plus cable 24N402
emale threaded outlet port: 1/4- . ' . '
utietp e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be ordered
separately.
For oil. Works with series progressive or
parallel systems. Includes low level switch. G1 Pump
e Series progressive systems require
B 94G045 | G1 Qil Series. 2, 4, and 8 Liter reservoir options. BSPP outlet fitting 57.1071'
(e 94G046 | 24vdc motor, low level, fill cap with strainer. * Parallel systems require BSPP vent
v 94G047 | Female threaded outlet port: 1/4-19 BSPP. valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be ordered
separately.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO Page No.: 10 of 54



http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html

PCA,

FIAT CHF

GLOBAL POWERTRAIN

For grease up to NLGI #2. Works with series

progressive or parallel systems. Gl Pump
Includes low level switch.
= e Series progressive systems require
8] B 94G039 | G1 Grease Series. 2, 4, and 8 Liter reservoir BSPP outlet fitting 571071.
; == 94G040 | options. 24vdc motor, low level, pressure-fill. o Parallel systems require BSPP vent
94G041 | Female threaded outlet port: 1/4-19 BSPP. valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be ordered
separately.
4.3. SINGLE LINE PARALLEL (MANIFOLD MOUNTED PISTON DISTRIBUTORS)
Picture Symbol Model Description Notes Doc #
Q.‘. 15X667 2 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
] contained piston distributors for PDs (qty. 2)
ﬁ... 15X668 3 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
PR contained piston distributors for PDs (qty. 3)
% 15X670 5 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
VR contained piston distributors for PDs (qty. 5)

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 11 of 54



http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf

PCA,

FIAT CHF

GLOBAL POWERTRAIN

4.4. SINGLE LINE PARALLEL (CAST BODY PISTON DISTRIBUTORS)

Picture Symbol Model Description Notes Doc #
24 3400 Self-contained piston distributor for manifold mount. Oil only Oil PDs
[[ |j 3500 Output range .01 - 1.5 cc volumes Fluid outlet ports: M8x1
J 3900 Fluid inlet ports: M8x1, M10x1, M12x1, and

M14x1.5 options available
24 3410 Self-contained piston distributor for manifold mount. Fluid grease only Grease
[[ |j 3510 Output range .01 - .3 cc volumes Fluid outlet ports: M8x1 PDs
J 3910 Fluid inlet ports: M8x1, M10x1, M12x1, and
M14x1.5 options available
L1 1
SEE 3400 Cast piston distributor 2,3 or 5 station manifold — output | Oil only Oil PDs
el range 0.01 - 0.16 cc Fluid outlet ports: M8x1
3 Fluid inlet ports: M10x1
L 1|
'l '2 '3 3410 | Cast piston distributor 2,3 or 5 station manifold — output | Fluid grease Grease
range 0.01 - 0.10 cc Fluid outlet ports: M8x1 PDs
3 Fluid inlet ports: M10x1
L1 1
el 3500 Cast piston distributor 2,3,0r 5 station manifold— output Qil only Qil PDs
e range 0.10 - 0.60 cc Fluid outlet ports: M8x1
S Fluid inlet ports: M12x1
L1 1
155 3510 | Cast piston distributor 2,3,0r 5 station manifold— output | Fluid grease Grease
range 0.10 - 0.30 cc Fluid outlet ports: M8x1 PDs
§ Fluid inlet ports: M12x1

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 12 of 54



http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html

PCA,

FIAT CHR

GLOBAL POWERTRAIN

L1 1
155 3900 | Cast piston distributor 2,3 or 5 station manifold — output | Qil Only Oil PDs
range 0.20 — 1.50 cc Fluid outlet ports: M8x1
3 Fluid inlet ports: M12x1
L 1| ;
1t 3910 | Cast piston distributor 2,3 or 5 station manifold — output Fluid grease ] Grease
els range 0.10 — 0.30 cc Fluid outlet ports: M8x1 PDs
3 ' ’ Fluid inlet ports: M12x1 S—
Ll 24F544 . T . . For higher pressure oil injection. For use :
oo GL-43 Series oil injector 1, 2, 3, or 4 station manifold — . Qil
24F545 . e with G1 and G3 pumps and vent valves, or | 7.
Izl 3 2AF546 output range adjustable 0.016 — 0.131 cc larger volume barrel pumps. Injector
. 24F548
TeTe 247509 GL-32 Series grease injector 1, 2, 3, or 4 station For higher pressure grease Injection Grease
By | 2|3 24F510 manifold — output range adjustable 0.016 — 0.131 cc through an NLGI#2. For use with G1 and Injector
— 24F511 P 9 ) ’ ’ G3 pumps and vent valves, or larger frector
- 3 24F512 volume barrel pumps.

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO Page No.: 13 of 54



http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/gl-43-oil-injectors.html
http://www.graco.com/us/en/products/industrial-lubrication/gl-43-oil-injectors.html
http://www.graco.com/us/en/products/industrial-lubrication/gl-32-grease-injectors.html
http://www.graco.com/us/en/products/industrial-lubrication/gl-32-grease-injectors.html

PCA,

FIAT CHR

GLOBAL POWERTRAIN

4.5. SINGLE LINE PARALLEL PUMP PACKAGES AND ACCESSORIES

piston distributor lube systems. When used by NAFTA, Quick-fill to be

Picture Symbol Model Description Notes Doc #
15U858 | Gear pump 230/480vac 60Hz, 400vac 50Hz, 3 liter E‘;ﬁféi'n'gzag'npgtfg rﬂ';t”ti’uéor Systems. | bp pump
@E(X;‘ translucent reservoir, 0.5L/min, dual level switch PIpe.
When used by NAFTA, Quick-fill to be
ordered separately.
15U860 | Gear pump 230/480vac 60Hz, 400vac 50Hz, 6 liter E‘;Jﬁéﬁ!ﬁ;&%‘r]pgtfg r?]';t”?“;or Systems. | bp pump
<l @EéP translucent reservoir, 0.5L/min, dual level switch PIpe.
Qi When used by NAFTA, Quick-fill to be
ordered separately.
557547 | 3 liter reservoir, 0.2L/m gear pump/motor 230/480vac, For total Ioss_f|u|d grease piston d|str|b_utor PD Pump
systems. Refill connection @ 10 mm pipe
@E(? 400vac 50Hz, (2) low-level switches with 4-pin micro y : PIPE.
When used by NAFTA, Quick-fill to be
ordered separately.
122598 | 6 liter reservoir, 0.2L/m gear pump/motor 230/480vac, zosrtéor;cqasl I%S;irllﬂgngnrsgfgnpgtfg g]'fr:”t?ugor PD Pump
d% WX; 400vac 50Hz, (2) low-level switches with 4-pin micro Y ’ PIPe.
ari, When used by NAFTA, Quick-fill to be
ordered separately.
L= - or 5 Liter oil reservoirs. Pneumatic pump package for : i '
® 1 A-01 2005 Li i irs. P ic pump package f Oil only. Refill: screw-on cap 112601
¢ 'E;Zé L

ordered separately.

Original Date: 1-Oct-2010
Revision History: 31-Jul-17

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 14 of 54



http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l12601/L12601EN-B.pdf

FIAT CHF

GLOBAL POWERTRAIN

PCA,

For oil. Works with series progressive or

96G050 | G3 Oil Series. 2, 4, and 8 Liter reservoir options, arallel svstems. Includes low level switch G3 Pump
96G051 | expandable up to 16 Liter. 24vdc motor, low level, il P ystems. . -
- 96G052 | cap with strainer.  Series progressive systems require
E' Female threaded outlet port: 1/4-19 BSPP. BSPP outlet fitting 57,1071'
e Ty e Parallel systems require BSPP vent
' T valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.
96G182 | G3 Grease Series. 2, 4, and 8 Liter reservoir options, E:rri(gsreics)e r‘é@;ﬁ/gt?' :rzalllglvgrlgtsemtsh G3 Pump
96G184 | expandable up to 16 Liter. 24vdc motor, low level, prog P y '
96G189 | pressure-fill. Includes '°"_V level SW'tCh' :
- - e Series progressive systems require
) Female threaded outlet port: 1/4-19 BSPP. BSPP outlet fitting 571071,
: M v e Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.
94G045 | G1 Oil Series. 2, 4, and 8 Liter reservoir options. 24vdc For oil. Works with series progressive or G1 Pump
94G046 | motor, low level, fill cap with strainer. parallel ssyst.ems. Includgs low level SWItC.h'
94G047 | Female threaded outlet port: 1/4-19 BSPP. * eries progressive systems require

BSPP outlet fitting 571071.
o Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately..

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 15 of 54



http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html

FIAT CHR

GLOBAL POWERTRAIN

PCA,

E.

94G039
94G040
94G041

G1 Grease Series. 2, 4, and 8 Liter reservoir options.
24vdc motor, low level, pressure-fill.
Female threaded outlet port: 1/4-19 BSPP.

For grease up to NLGI #2. Works with
series progressive or parallel systems.
Includes low level switch.
e Series progressive systems require
BSPP outlet fitting 571071.
e Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.

G1 Pump

ﬂ

@

24M482

G1 Standard or G3 Standard pump vent valve Kkit.
Normally Open, 24VDC, adjustable relief 500-3500psi
(Requires 24N402 cable). Female threaded outlet port:
1/4-19 BSPP.

For grease or oil on single line parallel
circuits ONLY.

Vent
Valves

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 16 of 54



http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html
http://www.graco.com/us/en/products/industrial-lubrication/vent-valves.html
http://www.graco.com/us/en/products/industrial-lubrication/vent-valves.html

FCA,

GLOBAL POWERTRAIN

4.6. AIR-OIL LUBRICATION SYSTEMS

Picture Symbol Model Description Notes Doc #
SPG- 24vdc pump/motor package with integration of Piston For high speed spindle applications. Hi Speed
E24 Distributors and air mixing valve technology. Requires consultation from specialist. Spindle
Custom Integration of Series Progressive valves and mixing For spindle lubrication. Requires L20110
valve technology. Application specific. consultation from specialist.
AO Air Oil Series Progressive mixing valve technology. For spindle lubrication. Application specific. | Air/Oil
series Includes air pressure switch. Requires consultation from specialist.
4.7. FILTRATION FOR LUBRICATION SYSTEMS
Picture Symbol Model Description Notes Doc #
, = Fill/Return line filter with 25 micron filter element. . : :
ﬁ . 563515 Fluid inlet port: 1/4-19 BSPP female Oil series progressive only. L15200
' Fluid outlet port: 1/4-19 BSPP female
= 564004 High-pressure in-line oil filter assembly with 10 micron Oil only. Includes visual/electrical element L15200
= el element. condition indicator. HF2 style element
= % E I, Fluid inlet port: 3/4-14 BSPP ' '
i Fluid outlet port: 3/4-14 BSPP
» w Pressure line grease strainer - 100 mesh : :
? ' 564406 Fluid inlet port: 1/4-19 BSPP female Grease series progressive only. L15200
' Fluid outlet port: 1/4-19 BSPP female

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1
Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 17 of 54



http://www.graco.com/us/en/products/industrial-lubrication/high-speed-spindl-gard-system.html
http://www.graco.com/us/en/products/industrial-lubrication/high-speed-spindl-gard-system.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l20110/L20110EN-B.pdf
http://www.graco.com/us/en/products/industrial-lubrication/air-oil-ao-series-valves.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf

PCA,

FIAT CHR

GLOBAL POWERTRAIN

4.8. QUICK-FILL COUPLING OPTIONS/SUGGESTIONS

A

Ml

B 5 rps—— B $
El B Ml i |
_y A = ™ ) 8
Ep N : =
Parker Series FEM Parker Series 60 Parker Series FF

Port Dust Dust Dust Dust Dust

Size Nipple Cap Coupler Dust Plug Nipple Cap Coupler Plug Nipple Cap Coupler Plug

1/8"

BSPP H1-63-BSPP H1-66M | H1-62-BSPP H1-65M

1/4"

BSPP | FEM-252-4FB FR-25 | FEM-251-4FB FR-25 H2-63-BSPP H2-66M | H2-62-BSPP H2-65M

3/8"

BSPP | FEM-372-6FB NR-37 | FEM-371-6FB NR-50 H3-63-BSPP H3-66M | H3-62-BSPP H3-65M FF-372-6FB | NR-37 | FF-371-6FB | NR-50

1/2"

BSPP | FEM-372-8FB NR-37 | FEM-371-8FB NR-50 H4-63-BSPP H4-66M | H4-62-BSPP H4-65M

3/4"

BSPP | FEM-622-12FB FEM-621-12FB H6-63-BSPP H6-66M | H6-62-BSPP H6-65M

For FCA NAFTA Plants: For approved lubricants reference to the FCA NAFTA website to obtain latest revision of the FCA NAFTA - NPM — Chemicals.

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 18 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '




FCA

GLOBAL POWERTRAIN

5. TECHNICAL INFORMATION AND DRAWINGS

5.1. MSP

5.1.1. EXAMPLE ORDERING CODES
e 3 section: MSP-3-XXX-XXX-XXX
e 4 section: MSP-4-XXX-XXX-XXX-XXX
e 5 section: MSP-5-XXX-XXX-XXX-XXX-XXX
e 6 section: MSP-6-XXX-XXX-XXX-XXX-XXX-XXX

o 7 section: MSP-7-XXX-XXX-XXX-XXX-XXX-XXX-XXX

o 8 section: MSP-8-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX

e 9 section: MSP-9-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX

o “-XXX-“is replaced by the valve sizes and types required (10T, 20S, etc.)

e CAD files in formats dxf, igs, and stp available on request

TORQUE SPECIFICATIONS

Tle Rod Nut 5-8 ftlbs
Valve Block Mtg. Screw 8-9 ft Ibs
Indicator Port Plug 8-9ft lbs
Inlet Bleed Screw (MH inlet only) [1-2ft lbs
Piston Enclosure Plug 12-15ft lbs

ASSEMBLY NET WEIGHT: Ibs (kg)

3 section 5.9(2.7)
4 section 7.3(3.3)
5section 8.7 (4.0)
6 section 10.2 (4.6)
7 section 11.6 (5.6)
8section 13.0(5.9)

MSP DIVIDER SPECIFICATIONS (when used with standard inlet section)

Standard Material

Corrosion Protected Steel

Optional Material

Stainless Steel

O-Ring Seals

90 Durometer Fluoroelastomer (FKM)

Max Cycle Rate (w/o cycle ind)

Pressure (max)

3500 psi (241 bar)

Temperature (max)

FKM Seals - 350°F (177°C)

Lubricant

Oil or Grease, up to NLGI #2

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO Page No.: 19 of 54




FC

FIAT CHRYSLER AUTC

)MOBILES

GLOBAL POWERTRAIN

5.2. MSP DIMENSIONAL DRAWINGS
5.2.1. THREE SECTION MSP

A2 —=

1209

a— 2181 ——=

Ag2
TYP

@O

— 487

781

4358

3083

< e G

CAUTIOM: Hm. PRESSIBE 1 ‘
'

100 @O |
10©@ @O | sa

ofofo

00 @) | ~ L

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

£25

\—-;ziem THRU

ik .

= — 1750 43 PLACES

¢

GRACO Page No.: 20 of 54

- 3000 -




FCA

FIAT C

GLOBAL POWERTRAIN

5.2.2. FOUR SECTION MSP

e— 21B] ——=—

OFOLOKO

w1128 | ==
ABT
A0 —o |- ‘l
T CAUTION: rhnm
o+
1209 P ﬁ.q'.ﬁ 22
gag J_ i O. @O i
i 9 @ LUEFioUP  MSe- 30T
A 4507 | @ @ |
.
O) ‘ O@ @O r
@ | T ——
“=-=-=”‘:.,_ @@ ©@©
)
(S¥)
(LILL] Ll (L ami
HED - L7530 —= 4% (28]
e————— 3000 ————
File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1
Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

| lee@e |

Page No.: 21 of 54



PCA

FIAT CHRY

GLOBAL POWERTRAIN

5.2.3. FIVE SECTION MSP = 150 |
t
781 0]
—e—@ o

— 4E7

420 =

-f CAUTION: WM. PRESSURE

1209 Dz B
[

i 100 Q0O |
v

!

) 1000 @©
X 3429 | @@ @@ |
LOO ©©

1 @0 QO || g
&

[
o —
85— 1750 L‘T

3.000

(@[(@]@[@]@] T ;

i

271

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '

{ [@e@@ e

Page No.: 22 of 54



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.2.4. SIX SECTION MSP |‘- 1500 —“‘
{

e 2 1{] ——o [ :|

1209 L gm%;ﬁm

O JLOF ero0l ole

—o® o] SJIC
@" @ 'I_ 7324 633 m@%m@g [ @ ~®
)| 6TOE | e
&) 9y fec1on! IO
9@ OTOo | 9e

€

LI L 17 0 L[;[fh“‘— 4% 2Bl TIT]

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 23 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '



PCA,

EIAT CHRY

GLOBAL POWERTRAIN

5.2.5. SEVEN SECTION MSP = 1300 —=
.?:31 0]
2181 o ‘63’ 0
- 1128 | ]
420 ~ 48 el s [ — e

I.EI[J‘B Oz O™

A GRACD | TRABON MaP- 408 |
B IHOCIOION
— P

@ g
ol
©
9
QQE
(3/(® (@ (0

7273 GRACD 1 TRABOH M- 1000

4 - 8246 B
)0 @@ T s
ORALD | TRABCH WP 1000 1 e

Q) -
©,
©

O

cEEEEEE
@E
o)
©
o

@E
o)
©
of
d @ c

®

AR A

@281 THRU
(4) PLACES

H
H
£l

.
s
§
H
§

B25 —=

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 24 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx (Y



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.2.6. EIGHT SECTION MSP i = 1500 "|
o

o—4 o

"r N

1209 | ; {Ef“"ﬁ;“a'l'_é_m |
-l locea | RIS
T 99y oRIoRY, Rl
g ol r@"é“@?a?j (© %
| © o oo w121
ollc oo oI
©) HOBIORY: 12
) Seeo! (@

O IOIO0), RIS

" ¢
= P —

Original Date: 1-Oct-2010

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '

Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 25 of 54



FCA

FIAT CHRYSLER AUTOMOE

GLOBAL POWERTRAIN

5.2.7. NINE SECTION MSP i = 1500 '"|
TR [ o
T — & o
e 2181 —e ]
— T
= 1P
420 -] ""3?‘1
I — L
1209 : %@m ‘
-um-m_m ¥ FT. 8
" Coe9
17 00

Q17

CRECEEE

= e =] =] =] B=|]m =

REERREEEE
I
i
§
¥

g
ololcloibeloto

i~ ——— i -——— i -——— i -——— . -—— - -———

)
)
)
)
PO j o
)
)
)

@@t@;@;@;@;@;@;@“——r '

— =

| |

il

B
B

{4y FLACES
HE3 —e-

4 6s
T - @28t THRU
L’ 1,750 'J

e 3000 —=

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017

GRACO Page No.: 26 of 54



PCA,

GLOBAL POWERTRAIN

5.3. ZMSP
5.3.1. ZERO LEAK MODULAR FILTER SECTION

.245 REF

1.120
REF

1.933 Xy
REF REF”]
THABIM Patent £
25 MIC Gaon 3 \ x
Jo ¢H— L
REF
+ I I
1.350
. 3.000 ol REF , l
REF
SPECIFICATION
Standard Material Plated Steel
Pressure (max) 3,000 psi (207 bar)

Max Flow Rate

0 cu in per minute

Filter Rating 25 microns nominal
B, = 2.0 (50% Efficiency)
B,, = 7.0 (86% Efficiency)
Lubricant Oil, IS0 VGA 32-220
Torque:
Filter Block Mounting | 8-9 ft-lbs
Screw 556513 (419-140-070)

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1
Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 27 of 54



FCA

FIAT CHR

GLOBAL POWERTRAIN

5.3.2. ZERO LEAK MODULAR VALVE SECTION

WIRING DIAGRAM

A

ANSI SYMBOL

e———

1.938
REF

—_—

REF
Patent

l #5,730,174.

\N%//

&

TRABON

E

SOLENOID COIL

7/8-16

UNC Thread for Brad

\ Harrison 3 Pin Mini Connector
\ - M12x1 Thread for 4 Pin Micro
s [ Connector
Lo \
N - ?W_r
| =
| | |
| | —
3.305 | |
REF [ _]_
1.43 '@
REF
A | Bl |
33 REF @ =
REF ?

i

SPECIFICATION

Position Normally Closed
Material Plated Steel
Pressure (max) 3,000 psi (207 bar)
Operating -20°F to +130°F
Temperature (-29°C to +54°C)
Lubricant Qil, 1S0 VGA 32-200

Electrical Rating:
(AC)

(DC)

104-125 VAC at 55-65 Hz, 13 watts at 115
VAC, 0.130A Holding Current, Continuous Duty
Coil, Class H Insulation

20-28 VDC, 13 watts at 24 VDC, Continuous
Duty Coil, 0.500A Holding Current, Class H
Insulation

Filtration

Use in conjunction with Modular 25 Micron
Modular Filter Section

P/N 563480 (527-005-760)

Torque

Valve Block Mounting Screw
P/N 556514 (419-140-080)

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1
Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 28 of 54




FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.4. GREASE ZONE VALVE 557227

|"*J E r'-'l A I_ E ': :3 MY E C. T_\
,

A

o

P
-

.

= Fatti] ™ C. ATy
-I_'-\.p'III'I _p'lll:;._.- |'\-.:I'\I
NORMALLY CLOSED
SPECIFICAT :'“:‘-."Q
aFLb A N
B ~ o - . -
2 POS ON = 2 WAY COAXIAL VALVE SELF AC
LAA Y Ao kT | R e \ ~ opreeo(oc . . A
AX CONTINOUS RUNMNING FRESSURE 0-150 BAR
MA K WTERMI TTANT PRESSURE - 0-200 BAER
VAN TOD [ el N [
MATER | A STAINLESS
oy CoTARE |70 TR
CONMMECTOR SI1/£E - M2
SEAl S - TEEI O
'\-\.t_l'l'_\.': | _l._.lr"l.
i ™ Ti~TC N Tt 4L
vigL AL - ¢ A VG a5 |'l'|
OFTI O - [
gt N [

30

-

| e <2

e

i

i

=

==]

W

2,03 REF —=

el aYTh=Fa'
CONTROL
2,172 F3ll
- AR Do Y
2,900 P35
e
3

[ -
:'!' ¥

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

\
7

GRACO

Page No.: 29 of 54



PCA,

FIAT CHR

GLOBAL POWERTRAIN

5.5. PERFORMANCE INDICATORS 563256 & 563254

=3 (2.4052 =
—=— (1000} —=

(300

— )
/ GRACO  XXXXXX |
XXXXPSI  XXXX |

(.230) ==

Specifications

Materials Zinc-plated steel with FKM o-ring, and aluminum indicator pin.

Pressure Rating
563254|750 psi (+/- 90)
563256|1500 psi (+/- 180)

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 30 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx (Y



FC

FIAT CHRYSLER AUTOMORBILES

GLOBAL POWERTRAIN

5.6. PROXIMITY SWITCH 24K415

Technical Data

Electrical Design DC PNP
Output Normally open
Operating Voltage 10-36VDC

Maximum Operating Pressure 5100 psi (35.1 MPa, 351 bar)
Ambient Temperature Range -13° to 176°F (-25° to 80°C)

Current Rating 100 mA
Voltage Drop <25V
Current Consumption <15 mA
Maximum Switching Frequency 100 Hz
Connection M12
Thread type 7/16 inch
Sensing range 1.5 mm (f)
Display Power Indicator: LED yellow
Wetted Parts steel, chromium-plated, PBT
Weight 1.8 0z (0.053 kg)
Enclosure (Ingression Protection) IP67

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO Page No.: 31 of 54



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.7. MECHANICAL CYCLE SWITCH 563272 EL ECTR | C AL RAT ‘ NG
15 AMP - 125,250 480 VAC

= A /2 AMP - 125 VDC

* /4 AMP - 250 YDC
N (166> © 24 YDC 6 AMPS NON- INDUCTIVE

— iy CONTACT ARRANGEMENT SPDT
| .J/) NEMA | ONLY
= (1,00} =

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1
Original Date: 1-Oct-2010 ’
Revision History: 31-Jul-17

GRACO

©2017 Graco Inc. 352481 Rev. E 7/1/2017 Page No.: 32 of 54



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.8. G3 AND G1 SERIES GREASE PUMPS
5.8.1. TECHNICAL DATA

Pump Qutput Pressure

Fill Inlet Pressure

Power
24 VDC

Outputs - Low Level (Dry Contact)
Contact Rating
Switch Rating
Switching Current
Carry Current
Fluid
Grease Models
Oil Models
Pumps
Pump Output

Pump Qutlet
Reservoir Size
IP Rating
Ambient Temps
Wetted Parts

Sound Data

5100 psi (35.1 MPa, 351.6 bar)
5000 psi (34.4 MPa, 344 7 bar)

18 - 32 VDC; 2.5 A current, 60 W, inrushflocked rofor 6 A

10 Watts Maximum
200 VDC Maximum
0.5 A Maximum
1.2 A Maximum

Grease NLGI 000 - #2

At least 40 cSt oil.

Up to 3 (G3 models only)

0.12 in.? (2 cm?) / minute per outlet - 2 spacers

0.18 in.* (3 cm®) / minute per outlet - 1 spacer
0.25 in.3 (4 cm?) / minute per outlet - 0 spacers

1/4 Female

2.4, 8 12, 16 Liters

IPEIK

-40°F - 158°F (-40°C to 70°C)

nylon 6/6 (PA), amorphous polyamide, T5004-060, zinc plated
steel, carbon steel, alloy steel, stainless steel, nitrile rubber
(buna-N), bronze, nickel plated alnico, chemically lubricated
acetal, aluminum, PTFE

<60 dB

Version 10.1

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx (Y

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017

GRACO

Page No.: 33 of 54



PCA,

FIAT CHF

GLOBAL POWERTRAIN

5.8.2. G3/G1 PUMP WITH 2 LITER RESERVOIR

r— 80000 —=—

(13.236)

(7.6163

]

=l

!

(o620

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 34 of 54



FCA

GLOBAL POWERTRAIN

5.8.3. G3/G1 PUMP WITH 4 LITER RESERVOIR

r— (9131) ——=

‘ (8.858)

j (14.478)

2.6203

[
A

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 35 of 54



FCA

GLOBAL POWERTRAIN

5.8.4. G3/G1 PUMP WITH 8 LITER RESERVOIR

=— (B.236) —

r=— (B.000) —=

(18.868)

(913D

(13.248)

(2.620)

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 36 of 54



PCA,

FIAT CHF

GLOBAL POWERTRAIN

5.8.5. G3/G1 PUMP WITH 12 LITER RESERVOIR

(8.236) {

(8.000)

| l (23238

(9130

(17.638)

—

(o620

o &
oo

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 37 of 54



PCA,

FIAT CHF

GLOBAL POWERTRAIN

5.8.6. G3/G1 PUMP WITH 16 LITER RESERVOIR

(8.236) {
(B.000) (213D
&Y |
AX-
3 "

. _

{ y (22028 Y
]

¥ L

(27.648)

! &
f \ f |
| | | ]

L F ¥

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 38 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx (Y



FC

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.9. G3 AND G1 SERIES OIL PUMPS
SAME DIMENSIONS AS GREASE RESERVOIRS (ABOVE), WITH ADDITION OF OIL FILL CAP:

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1
Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 39 of 54



F f ' A

3y

1 o
e’ & 5

GLOBAL POWERTRAIN

5.10. SINGLE LINE PARALLEL MANIFOLDS FOR PISTON DISTRIBUTORS
B
8 ! )] { 15
e THREAD E TYP
— 2% 13 MAY —
20 @5.5 THR
Lgs.15 ¥ & NO. OF HOLES (A) 1.5
e 2 12:40.5 - / THP
™ 3 7 i !
1 | 1 1 | |
AW N - 7
A I | | 9 MAX TYP /
2t 6 — \ {/I ; ' I ; Z— AP A / i
2-\:1_,7- i // i //// i --,4/-.4 /, ] 25,
8 J——{———‘L ————— b .
e 4 == )
o 7SS SAAN NS S TIX 4
™ -—?‘FFF‘ \—ZX IO X | SECTION B8-B
] ] C
PART NQ. |DESCRIPTION NG. OF HOLES (A} B G D THREAD E BF
|5X667 MANIFOLD, PD, MIOC / M8 2 STATION 2 52 40 16 H8 X | 4 METRIC
|5X668 MANIFOLD, PD, MIC / M8 3 STATION 3 68 56 16 ME X | 4
|5X670 MANIFOLD, PD, MIC / M8 5 STATION 5 100 88 1§ M8 X | 4

MATERIAL: 6061 ALUMINUM ALLOY

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 40 of 54



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.11. SINGLE LINE PARALLEL PISTON DISTRIBUTORS, SELF-CONTAINED
MEx1
e
ﬂ /Mﬂxl )
3400 Hf"I L HEX 44 3500 E:HEME
Series 5 NDEx Series | npicE
r )
-n. 212 II - 216
Nl 'y
{_ 1T+ HExet i
“’1. ! ml T HEX.14
e a L
'STERL 00y f
-BRASS DOSER NIPFLE MATERL, R10x1
MBx1 Max1
T
INDEX T
INDEX
3410 3510
Series HEX 12 Series i !
¢ ‘ HEX 15
b
EJAE:SMLBDDV MATERLAL: MT'?]
-STEEL DOSER NIPFLE BRASSBOOC e

METRIC

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1
Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

(7

GRACO

Max1
T/
HEX 14
3900 INDEX
Series |
L]
p @21
L]
Ty - Hexr
MATERRL M14x1S
o Mex
'—[TT‘H/
! B1—INDEX
3910 :[
Series ,
HEX.21
5L
I
I
ke Booy Hide s
-BRASE DOSER NIFPLE

Page No.: 41 of 54



FCA,

GLOBAL POWERTRAIN

5.12. SINGLE LINE PARALLEL CAST BODY PISTON DISTRIBUTORS

3400 Series for Qil
ﬁ MBx1 17 17 17 17 17 17 17
|

Flow
15 JU!-EL MI ) | JL 'L JL 4 J-Ll 5] JL ‘<‘ JL*f MI ‘4‘ JL 5 i”d?x
b bt b e | T|ﬂ“|+|“|ﬁ ot owet
! ' I f T
& 501 | ||4 c|1 3 SHTl4rT(3F T ;|z+—- 1 '
_ Ty Ty M TV Y I
E,j% ___—jJ; el TT BB l*t__g __Ti_ 2= f__jég
= a i —= 5
3 9 24 24 17 24 51
48 65 99
METRIC
2 outlets 3 outlets 5 outlets
3500 Series for Qil
3 M8x1 17 17 17 17 17 | 17 17
T[T TTTT)(T MMM =
| | I | | I | ! | ! flow
[ i 5 i 6| [ | 5 | 6 | 5] [ } 5 i [ | | } 5 | 5+—|
minmiva iainminvainwln AN ARG 1T outlet
‘ ‘ ‘ ‘ ‘ ‘ ‘ | ‘ | number
2 <5 501 || 4 51111141113 ImcdnnEhintdhimi '
~ &Q | | | | | | | | | |
= Z 1 1 K\ f | — | f =N I I
g L 1IN

1T
@' =
[I=
i)
BN
L

|

il

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

GRACO

Specifications

Operating Pressure: 10 - 45 bar
Medium: Oil

Viscosity: 32 to 2000 cSt
Temperature Range: +0°C to + 70°C
Perm. Residual Pressure: Max. 1.5 bar

Specifications

Operating Pressure: 10 - 45 bar
Medium: Oil

Viscosity: 32 to 2000 cSt
Temperature Range: +0°C to + 70°C
Perm. Residual Pressure: Max. 1.5 bar

Page No.: 42 of 54



FCA

GLOBAL POWERTRAIN

3900 Series for Qil
o e 2 2 Specifications
' asnalasns asaalasaslasas index Operating Pressure: 10 - 45 bar
—— | 5] 5] I 5] 5] G E— Medium: Qil
/ g - A - - Viscosity: 32 to 2000 cSt
j ﬂ F ﬂ ﬂ r Outlet Temperature Range: +0°C to + 70°C
2 3 5 3 5 1 number Perm. Residual Pressure: Max. 1.5 bar
¢ NE ] T
7 ® | | I | |
. b 'J\‘J/FNH l‘”“‘”““;,r
o ‘AAL' S e ||| = o || S| A= T
@ S8 M TEE 5 HED=a _E—F 3+ S8
4 =2 o= & P N
|12 25 25 21
METRIC 16 0 1
2 outlets 3 outlets
Specifications
3410 Series for Fluid Grease Operating Pressure: 10 - 45 bar
13 ext 17 17 17 17 17 17 17 index  Medium: Grease NLGI 000, 00
b flow  Temperature Range: +0°C to + 60°C
> 2 % f:%rﬂliwii d iﬁiﬂﬁiﬁi Perm. Residual Pressure: Max. 1.5 bar
It ||T:||r“| |‘T"|| wlu/mnly ||T:|| mai T|||| 7 Outet
8 3} o 5| |4 50 (Ila]]|]3 5Tl Frr 3 2 {1 '
?3;7 1 |
17 [ e [ o g 52 [ o e S
@ | S — [ ES
3 9 24 24 17 24 51
48 65 99
2 outlets 3 outlets 5 outlets

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 43 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '



FCA,

GLOBAL POWERTRAIN

3510 Series for Fluid Grease

[TT) T

=
g_ﬂ
=
=
=
—
=

78.5

@

Index
7] row Specifications
Operating Pressure: 10 - 45 bar

outlet Medium: Grease NLGI 000, 00
number Temperature Range: +0°C to + 60°C
' Perm. Residual Pressure: Max. 1.5 bar

==
——
Ee=m

==

| |
217
|
I
i
H
10
W12x1
DIN2367

@17

2 outlets

3910 Series for Fluid Grease

%
an
| 5
3 2
S
A dpn
K2
METRIC v

31.5 485
63 97
3 outlets 5 outlets
| 21 | | 21 | 21 ‘
(TIT1 (TN ASRANASRANAERA 'foﬁ" e o
5 5 5 5 s—1 Specifications
| | | | ] Operating Pressure: 10 - 45 bar
_ | S Medium: Grease NLGI 000, 00
T ﬂ r T T r Outlet Temperature Range: +0°C to + 60°C
] ] | numper Perm. Residual Pressure: Max. 1.5 bar
il T
| | | | |
SRR ] ) A 5 5
SY HEL P EQ= B3+ 5§
25— 1 (P T11—=5
25 25 21
50 71
2 outlets 3 outlets

Version 10.1
Original Date: 1-Oct-2010

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx (Y

Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017

GRACO Page No.: 44 of 54



FCA,

GLOBAL POWERTRAIN

5.13. GL-32 & GL-43 INJECTORS

Technical Data

GL-43

GL-32

Maximum Operating Pressure

1000 psi (6.89 MPa, 68.9 bar)

3500 psi (24 MPa, 241 bar)

Minimum Operating Pressure

750 psi (5.17 MPa, 51.7 bar)

1200 psi (8.3 MPa, 83 bar)

Suggested Operating Pressure

850 psi (5.86 MPa, 58.6 bar)

2500 psi (17 MPa, 172 bar)

Reset Pressure

150 psi (1.03 MPa, 10.3 bar)

200 psi (1.4 MPa, 14 bar)

Recommended Fluids

Minimum SAE 10 weight oil*

Grease N.L.G.I. grades #000 - #2*

Output Volume per Cycle

adjustable: 0.001 - 0.008 in.3 (0.016 - 0.131 cc)

Wetted Parts

carbon steel, stainless steel, copper, fluoroelastomer

1 4 1 [EAT
(7]

LI
T

o

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

GRACO

\
7

Page No.: 45 of 54



FCA

GLOBAL POWERTRAIN

5.14. INJECTO-FLO PUMPS

5.14.1. THREE LITER RESERVOIR )
Max Output Volume Per Minute

P} — s Oil........3050 in’ (500 cm)
[ T Grease .....12.20in® (200 cm?)
METRIC Max Pressure
h Oil ............360 psi(25 bar
136 Grease.........580 psi (40 bar)
M E;_ = I| Power .............. 230VAC
L E] h@ Reservoir . . . . Plastic, Rectangular
th—r—ﬁim [ @0 @ ml Voo | [ ﬁ _|
Pl oY I ! I ﬂ—hl |
b _ 1 175 %
fems a4 %0 —
20
] C“
|/
102 |
L J | ] S N
= o =] = 130 =]
= 245 = = 142 o=

Original Date: 1-Oct-2010
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 46 of 54

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx Y
Version 10.1 '



FCA

GLOBAL POWERTRAIN

5.14.2. SIX LITER RESERVOIR Max Output Volume Per Minute

ki it R AN Oil...................... 30,50 in° (500 cm’)
| | | Grease ..................12.201in* (200 cm?)
& & Max Pressure
@ Oil.........................360 psi (25 bar)
] Grease......................580 psi{40 bar
7.7
tiga1 Power ..................oov.... 230VAC
& Reservoir ................. Plastic, Rectangular
v
Por" 8o gTéusame ” T
[T Jﬁ 4
I k]
P 7[2017
g L Pe e it
N - I ; [ | i
i 1 L . )
1.39
[188]
53 fib
11.43 R —
[2801 LS

: ] .
Version 10.1 - a - - - \
Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO Page No.: 47 of 54



FCA

GLOBAL POWERTRAIN

5.14.3. AO-1
F 6mm TUBE
“8BsP 1 (M12X1)
Air LUBE
OUTLET 96 [_
(.26) |
— * I
FaT i
b~ -~ ---..I I.--
B A
N A ' b\ . '
—-———— E —————— —— C ————]
tet——— [) —————
RESERVOIR
CAPACITY A B C D E F
2 liters 237.0 | 186.0 | 118.0 | 123.0 | 148.0 125.0
(4pt) (9.33) | (7.32) | (4.65) | (4.84) | (5.83) | (4.92)
5 liters 232.0 | 181.0 B 152.0 | 236.0 | 167.0
(10pt) (9.13) | (7.13) (5.98) | (9.29) | (6.57)

Lubricants Oil 50-1000 cSt

Output per Stroke (single shot only) |13 cc

Max Output Pressure 30 bar

Ratio 4.5:1

Air Operating Pressure 4-7 bar

Operating Temperature -10°Cto 80° C

Strainer 250 micron

Reservoir Options 2 Liter Nylon
5 Liter Metal

Minimum On-Time 5seconds

Minimum Off-Time 15 seconds

Maximum Cycles per Minute 4

Low Level Rating

1.5A@250VAC-150VDC

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 48 of 54




FCA

GLOBAL POWERTRAIN

5.15. G3/G1 VENT VALVE 24M482

DIRECT MOUNT VENT VALVE FOR G3 PUMPS

us Metric
Maximum working pressure 3500 psi 241 bar
Pressure Relief Valve
Factory Set Pressure 4000 psi + 10% 275.8 bar + 10%

Reset Pressure

80% of pressure

Relief Rate 0.13 gallons/sec @3000 psi [0.57 liters/sec @207 bar
Solenoid Valve
Flow Upto5gpm Up to 18.9 Ipm

Wetted materials

zinc plated steel, carbon steel, 6061 T6 aluminum,
fluoroelastomer, polyurethane

Weight 37.72 oz. 1069.5 grams
Solenoid Coil 24 Volt DC
Resistance (DC) @ 68°F (20°C) 28.8 Ohms
Initial Current Draw 0.83 Amps

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 49 of 54



FCA

GLOBAL POWERTRAIN

5.16. SPINDL-GARD SPG-E24
MECTO-FLo B ® 7 &
e o 0B ® N
= o g I
3.562
8.25 ile)
L] 1 0o
/—4)( .39 THRU
R T
2.75
$‘= o|C|o|Oo|Q —_—
|;50 @ 2'00
olo|le|o|a
.00
T ‘
1.75
2engggoer 3
B '
1.407 11.50
14.15 .38

High Speed Spindl-Gard™ Lubrication System with Electric Pump

us Metric
Pump Output 8.5in3/ min. 140 cm3/min
Motor Power 1/18 hp
Pressure Relief Setting 350 psi 34 bar
Output Block Regulator 30- 60 psi 2.07 - 4.14 bar

Lubricant

QOils up to 2500 SUS (1SO 460)

Seals Used Buna-N

Plastic Reservoir 0.8 gal. | 3 Liter
Low Level NC (held open) 115/230 VAC, 10 watt load
Voltage 24VDC

Air Cleanliness Requirements

5 micron 40°F Dew point

5 micron 4°C Dew point

Operating Temperature|

40°F - 120°F

4°C-49°C

Lube Output/cycle

0.005, 0.0015, 0.0030in?

0.025, 0.049, 0.082 cc

Pressure Switch Set Points

Air (N.C.) 25 psi nonadjustable 1.7 bar nonadjustable
Qil (N.O) 320 psi nonadjustable 22 bar nonadjustable
Delivery Tube Length Required

Minimum 24 inches 0.6 mm
Maximum 50 feet 15.24m

Lubrication Filtration Requirements

Filter to a minimum level recommended by the Society of Automotive
Engineers (SAE) which corresponds to the 1SO Standard 4406

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010
Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 50 of 54




FIAT CHRY

GLOBAL POWERTRAIN

5.17. AO SERIES AIR/OIL MANIFOLDS FOR MSP VALVES
B Maximum Air Working Pressure
‘ ‘ Maximum Fluid Working Pressure
- c[__:.': £ ..F-;_ Lubricant
(0) (6) :] Air Inlet
L : N/ Maximum Operating Temperature
Material
[ [ 30 B 1  AirSensor
__ = Air Connection
: | | M :[: Electrical Connection
N S ' - ;g Maximum Pressure
Fixed Setpoint
C[ A [ [ ]: Setpoint Direction
j Circuit Form
_ Current Rating
C[ - T I | — E Diaphragm Material
e R
Dimension A Dimension B Dimension C Dimension D
Model inch (mm) inch (mm) inch (mm) inch (mm)
248237 2.89 (73.4) 3.00 (76.2) 718 (18.2) 3.75 (95.3)
548230 3.815 (96.9) 3.00 (76.2) 718 (18.2) 3.75 (95.3)
24B240 4.74 (120.39) 3.00(76.2) 718 (18.2) 3.75 (95.3)
24B241 5.665 (143.89) 3.00 (76.2) 718 (18.2) 3.75 (95.3)

250 psi (1.7 MPa, 17 bar)

250 psi (1.7 MPa, 17 bar)

Oils up to ISO 460 (2500 sus)

1/8 NPT female

200° F (93° C)

anodized aluminum, zinc plated steel, stainless steel,
chrome alloy steel, fluorocarbon

1/8 NPT male

DIN43650A, PIN 1 - COM, PIN 2 - Not used,
PIN3 - Normally Open

250 psi (1.7 MPa, 17 bar)

35 psi (.24 MPa, 2.4 bar)

Falling

SPST-NO (below 35 psi)

5A @ 250 VAC

5A @ 30 VDC (resistive)

Buna-N

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx

Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 51 of 54



FCA

GLOBAL POWERTRAIN

5.18. HIGH PRESSURE FILTER 563515
1.000
- LUBE 1562
BT ourpoar RO67) ) BLEED — A
PORT
I__I/ : n
IR //9;32 Mounting Hol
1™ 2)(7.14)
© o= o
LUBE o I
out =l ALT| ouy EE '
5 o2 ol Bl |
CENTRALLITED L UBAICATION SYSTEM — | ALT. IN % ; § g .
e B | 1e D 17 S
R — 3l {|/ T =l X
= —1 2|3 ’\
CAUTION = ] L .
HYDRAULIC PRESSURE s EN g I
WORGNG PRESSIRE le) \ I . - |NLg(B)E[T
C B EI@
' 1.000
| 687 ] | 687, )
(17.5) (17.5) | Lz{"f
2.000
(50.80)
) 1.000
i Foo SPECIFICATIONS
1.375 : -
(34.9) R Body Material Plated Steel
/ &5 - ; ; ) - ,
/ 88 Filter Rating (Nominal Filtration) | 25 microns
\’\ H 22 Max Pressure 7500 psi (510 bar)
Net Weight (approx.) 3 Ibs (1.4 kg)
B . ®
File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx ‘
Version 10.1
Original Date: 1-Oct-2010 '
Revision History: 31-Jul-17
©2017 Graco Inc. 352481 Rev. E 7/1/2017 GRACO

Page No.: 52 of 54




FCA

GLOBAL POWERTRAIN

5.19. HIGH PRESSURE FILTER 564004

SPECIFICATIONS

Pressure Ratings

Max Allowable
Operating Pressure

Rated Fatigue Pressure
Design Safety Factor

3000 psi (207 bar)

2000 psi (138 bar)
3:1

Operating Temperature
Fluorocarbon

-15°F to 275°F (-26°C to 135°C)

Element Collapse Rating

350 psi (24.1 bar)

Materials
Bowl Impacted Aluminum (anodized 6061-T6)
Head Extruded Aluminum (anodized 6061-T6)
Element Condition
Indicators
Visual 360° green/red

Electrical/Visual

5A @ 240VAC, 3A @ 28VDC

Weights (approx)

3.51b (1.6 kg)

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 53 of 54




FC

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

5.20. GREASE STRAINER 564406
875
{222) LL}BE INLET ELEED
2,000 :ﬁ%?“\‘\"-\]
2 (50.8) Wi
W = ] l T
a
=2 Vel
=
- 2,000
(50.8)

STEEL BLOCK STRAINER WITH BLEED PORT
Rated Pressure 7500 psi (517 bar)

Net Weight (approx.) | 3 Ibs (1.4 kg)

Grease Strainer with 100-mesh (149 micron) screen 1/4 BSPP Ports

1.000
(25.4)

1.375 (34.9)

()

LUBE
ouTt

LUBE OUTLET

File Name: 352481E_FCA_Global_Graco_Trabon_Spec_Book.docx
Version 10.1

Original Date: 1-Oct-2010

Revision History: 31-Jul-17

©2017 Graco Inc. 352481 Rev. E 7/1/2017

¢

GRACO

Page No.: 54 of 54



